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Introduction


A tort is a civil wrong and hence not every wrong is a tort. A tortious liability arises from the breach of a duty primarily fixed by law; this duty is towards persons generally and its breach is redressable by and action for unliquidated damages (Gibson 1983).  

Trespass to land is constituted by unjustifiable interference with the possession of land.  Trespass to land is not criminal in the absence of some special statute, which makes it so.  For trespass to be substantiated, one must prove; possession, interference, intention, and unauthorized entry.

Trespass ab initio means that if a person enters land by authorization but once inside the land he does an act contrary to the authority he commits trespass ab initio.  There must be a positive act of misfeasance. As was held in the case of six carpenters where six carpenters entered into a restaurant – ate, drunk and refused to pay.  The owner of the restaurant sued them for trespass ab initio. It was held that this was a negative act of omission (non feasance) hence the carpenters were not liable for trespass ab initio (Stewart and Stuchmcke 2009).

The common law for tort as discussed above and the case laws will be used in reaching a decision on the following cases.

Question one 

Conduct element.

Alex Bella and Chris entered Danny’s store and without his consent went ahead to campaign against the chicken sold at the store.

Fault Element.

Commando C and Companion D although with the good intention to rescue Kim whom they perceived to have been brainwashed broke into a house without owners consent. This is trespass to land and they are at fault. In addition they abducted Kim against his wishes and forced him into the vehicle and therefore are at fault for trespass against a person which is in law false imprisonment. A gun was fired at Companion D injuring him that he will never walk. 

Commando C and Companion D are liable to pay damages for trespass and false imprisonment which can be brought against them by the owner of the house and Kim. Companion D cannot sue the member who fired the gun as he was trespassing at the time the incident occurred and he was at fault.

Defenses

Commando C and companion D were trespassing with good intention, however according to the law of tort a good intention does not make an unlawful act lawful and they would therefore still be liable to pay damages. If companion C brought an action against the member who fired the gun the member would defend himself on the grounds of self defense.

Remedies

Remedies would be in form of an injunction against Kim’s parents and Commando C and D from entering the house and interfering with Kim’s decisions as he is an adult. Commando C and companion D would also be liable to pay damages.

Conclusion

Although it was with good intention that commando c and D broke into the house, good intention is not enough defence in law. Kim is an adult and therefore free to make independent decisions about his religion preferences and therefore the parents cannot force him to leave the religion.

Question Two

Conduct element.

Petula and David had been friends. Petula did not want to get into a relationship with David and she told him so although he refused to accept this. Petula lived with her father Frank and he had expressly told David not to come to the house. David ignored all this facts and went to the house. He ignored Petula's objections and went on to hug and kiss her. In addition at her work place he blocked her car from moving. On another occasion David went to the house and Frank mistaking him for an intruder hit him with a baseball bat injuring him on the head.

Fault Element.

David is at fault for trespass to land as he ignored Franks request not to come to the house. He went to the house twice despite Frank’s request. He was also at fault for trespass to persons as he forced Petula to hug and kiss him despite her objections. This is equal to assault. When he blocked Petula’s car from leaving he was again at fault for assault as he begged her to listen to him. Although this was all in good intention, the law does not allow one to intrude on another person’s freedom and force his intentions on them. This is by law trespass and is wrong.

Damages element

David is liable to pay damages for trespass to land and assault as he entered Frank’s compound against his wishes. He equally forced Petula to hug and kiss him involuntarily. Frank may have injured David as he thought he was an intruder. Damages can be paid if David can prove that Frank used excessive force against him.

Defenses

Frank defense could be contributory negligence as David was an intruder in his house. In addition he can argue for private defense against what he thought was looming danger. David defense could be that Petula’s conduct meant consent to his relationship offer although this was farfetched. David’s action was with good intention it does not make them right.

 Remedies

Remedies would be in form of an injunction against Kim’s David from entering the house  or coming near Petula again. In addition he could be asked to pay damages for trespass and assault.

Conclusion

David never intended to harm Petula nor her father that is he had good motive for his actions but the law does not allow use of force against another person be it with good intention.

Question three

Conduct element.

Alex Chris and Bella went into Danny store and without his consent went ahead to a campaign against the hens sold at the store. There was a lot of commotion when Chris released dozens of chicken in the store which interrupted the customers who were shopping at the store. In addition Bella and Alex were trying to force customers to accept their brochures’ against their wishes. This led to a fight between the Alex Bella Ellie and Farid. Danny in an attempt to stop the commotion pushed Bella who hurt herself against the shelving units.

Fault Element.

Alex Bella and Chris were at fault for running a campaign at Danny store without his permission. This amounts to trespass. They tried to persuade his customers that the eggs sold in the store were not as good as those from hens reared in open areas. This would also amount to slander. In addition they interfered with the shopper’s freedom by blocking their way and forcing them to accept their brochures’. Bella was at fault for causing Ellie to fall as she tried to avoid what she thought was Bellas punch. This is assault. Farid may be at fault for battery because he hit Bella but he did so as he was trying to defend Ellie from what he thought was a fight. Alex was trying to support himself from falling when he grabbed Danny by the sleeve, this could however be argued as assault and he would be t fault.

Damages element

Alex Chris and Bella would be liable to pay damages for trespass to land against Danny and for assault/trespass against persons for causing Ellie to fall when they blocked her way as they forced her to take their brochures’.

 Defenses

Danny could defend himself on the grounds of contributory negligence as Alex, Bella and Chris had entered his store to run a campaign without his consent. This was ill motivated and meant to cause loss to his business. Farid defence could be private defense as he was trying to defend Ellie from what he perceived to be Bella’s aggression.

 Remedies

Remedies would be in form of an injunction against Alex Chris and Bella from running their campaign in Danny’s store. In addition they could be asked to pay damages for trespass and assault.

Conclusion

Alex Bella and Chris ought to have informed Danny of their intention to use his store for their campaign. 

Question Four.

Conduct element.

Peter was a convicted felon who had served his sentence and upon release went to live with his mother. Due to his past neighbors at the mothers place were uncomfortable with his presence and staged a protest outside their house. Bob, one of the protestors went to the front door to place poo but Peter thinking that he wanted to harm him hit him on the eye. Carol also part of the protesters threw a stone at Peter without his noticing which missed and hit a window. Dave on the other hand placed a trip wire intending to hurt Peter but instead Mary tripped on the wire and was wounded.

Fault Element.

The neighbors are at fault for causing public nuisance especially to Peter and his mother Mary based on his past yet he had not been accused of any crime since being released. Anna was also at fault for slander as she referred to Peter as a low life. Bob was at fault for trespass to land as he walked to the front step to place poo. Carol is also at fault for throwing a rock at Peter even though he was not aware, she could be sued for assault and trespass. Dave equally could be sued for assault against Peter for his intention to harm him and battery against Mary who was actually injured by the trip wire.

Damages element

Anna, Dave and Bob are liable to pay damages for their trespass to land, trespass to persons in terms of assault and battery respectively. 

Defenses

The protesters can defend themselves as on grounds of freedom of expression. However Peter would not be the rightful plaintiff for public nuisance. The government is the one responsible for bringing an action for public nuisance. However Peter can still bring an action against them if he can prove that he suffered the most from the nuisance. If brought an action against Peter for hitting him, Peter would argue that it was self defense and Bob was on the wrong for trespass.

Remedies

Remedies would be in form of an injunction against the protestors barring them from protesting and slandering Peter s he was no; longer a criminal. Anna, Dave and Bob would be liable to pay damages.

Conclusion

The law of tort describes public nuisance as an action brought by the government as the plaintiff. Slander is defined as a statement made in spoken words or in some other transient form whether visible or audible such as gestures or inarticulate but significant sounds. Trespass to land is brought by the owner of the house therefore the right plaintiff for this action would be Mary. Trespass to persons is in form of assault and battery of which Dave is guilty of.

Question Five

Conduct element.


Franco was a guest at a hotel. The guard on duty requested him to put of his cigarette. Franco became aggressive and refused to adhere to the request. The guard used force to thaw him out. 

Fault element


Franco was at fault for not obeying the hotel rules. The guard would also be at fault for using excessive force to throw him out.

Damages element


The guard had cause for redress against Franco since he was being a nuisance. He had asked him to leave before Franco refused and threatened him. However Franco could bring action against the guard if he can prove that the guard used excessive force or that he suffered y bodily injuries.

Remedies


Both Franco and the guard could be liable to pay damages if action brought against them succeeds

Conclusion


Trespass to persons can be committed negligently or intentionally and both Franco and the guard can try to prove their action for trespass.

Case Two

Conduct element


Sacha and Carrie were opponents playing for different teams. In the course of play Carrie caused serious injury to Sacha. In a revenge action Jana hit Carrie and also seriously injured her. 

Fault element.


Carrie may not be at fault as she injured Sacha unintentionally in the course of play. However Jana can be at fault for deliberately injuring Carrie. This action can be heard by the basket ball disciplinary committee.

Damages element


Sasha cannot sue Carrie for trespass to persons since it has been held by Diplock LJ ‘A person attending a game or competition takes the risk of any damage caused to him by any act of a participant done in the course of and for the purpose of the game or competition notwithstanding that such an act may involve an error of judgement or a lapse of skill, unless the participant’s conduct is such as to evince a reckless disregard for the spectators safety.’

 
Carrie on the hand can sue Jana for assault as she deliberately assaulted her in protest as a revenge action against Carrie for the injuries caused to Sacha. 

Remedies


Remedies available to Carrie are payment of damages as might be determined by a court of law. 

Conclusion


In law it is assumed that there is voluntary assumption of risk for players in game which could be a defence for the accused parties.

Question Six.

Conduct element.

Peter had negligently caused an accident that led to collapse of the main bridge that served Happy Valley, cranberry growers and happy valley goods yard. The collapse of the bridge led to these companies incurring heavy losses due to the inconveniences. Railroads company runs the passenger and service goods. It is the only such company. It continued to run an advert that it “guaranteed daily rail service”. Y relied on the advert and booked a seat in the passenger train. He was unable to travel and consequently lost a contract worth $ 500,000.Mary was laid off during the time the bridge had collapsed.

Fault Element.

Peter was at fault for negligently causing the bridge to collapse. Railroads Company was also at fault for continuing to run an advertisement that misrepresented the true facts and caused Y to lose a profitable contract.

Damages element,

The right plaintiff for an action against Peter is the government as this is a public tort on as the bridge is public land owned by the government. In an action brought by Y against Railroad Company, the company would be liable if Y can prove that he actually relied on the advert in making the decision to travel by train and that he suffered financial loss as a consequence.

Defenses

Railroads can defend that Y ought to have known that the statement was false and that he did not rely on the advert only in deciding whether to travel by train. Peter can defend himself on the grounds that the bridge was public  land in case any action is brought by cranberry ltd and happy valley ltd. Mary also may have been laid off or other reasons other than the collapse of the bridge as it is not clearly stated the cause of dismissal

Remedies

Remedies would be in form of a payment of damages to Y for he suffered loss due to the advert run by Railroads Company. In addition Peter could be liable to pay for damages caused by the bridges collapse.

Conclusion

The right plaintiff for an action against Peter is the government. However, Y could succeed in an action brought against the Railroads Company for damages due to the financial losses suffered.
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